

FRACTIONS : enchaînement d'opérations

1) Calcule :

$$A = \frac{\frac{-1}{2} + \frac{4}{3}}{\frac{-7}{3}}$$

$$A = \dots\dots\dots$$

$$A = \dots\dots\dots$$

$$A = \dots\dots\dots$$

$$A = \dots\dots\dots$$

$$A = \dots\dots\dots$$

$$A = \dots\dots\dots$$

$$B = \frac{\frac{-4}{15}}{\frac{-4}{5} + \frac{5}{6}}$$

$$B = \dots\dots\dots$$

$$B = \dots\dots\dots$$

$$B = \dots\dots\dots$$

$$B = \dots\dots\dots$$

$$B = \dots\dots\dots$$

$$B = \dots\dots\dots$$

$$C = \frac{\frac{3}{8} + \frac{1}{4}}{\frac{5}{3} - \frac{3}{4}}$$

$$C = \dots\dots\dots$$

$$C = \dots\dots\dots$$

$$C = \dots\dots\dots$$

$$C = \dots\dots\dots$$

$$C = \dots\dots\dots$$

$$C = \dots\dots\dots$$

$$C = \dots\dots\dots$$

$$D = \frac{\frac{-5}{3} - \frac{3}{-2}}{\frac{1}{4} - \frac{-2}{5}}$$

$$D = \dots\dots\dots$$

$$D = \dots\dots\dots$$

$$D = \dots\dots\dots$$

$$D = \dots\dots\dots$$

$$D = \dots\dots\dots$$

$$D = \dots\dots\dots$$

$$D = \dots\dots\dots$$